
MATHS

BOOKS - KAPLAN INC MATHS

(ENGLISH)

PRACTICE TEST 1

Practice Test

1. If , what is the value of x ?x3 = 75

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bQ0yBXFlxWbg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3.2

11.6

25.6

243.0

2. If , which of the following equals

5 ?

aΔc =
ab

c

https://dl.doubtnut.com/l/_bQ0yBXFlxWbg
https://dl.doubtnut.com/l/_OOkFgRsMzOak


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4Δ3Δ2

5Δ2Δ5

6Δ4Δ2

10Δ2Δ4

3. If  and , then f(x) = ex g(x) =
x

2

g(f(2)) =

https://dl.doubtnut.com/l/_OOkFgRsMzOak
https://dl.doubtnut.com/l/_OvGlD17hOSuC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.7

3.7

4.2

5.4

4. If , what is the value of  ?

A. 

= 5
x + 2y

y

y

x

−3

https://dl.doubtnut.com/l/_OvGlD17hOSuC
https://dl.doubtnut.com/l/_9jatwB9jMGXp


B. 

C. 

D. 3

Answer: C

Watch Video Solution

−
1

3

1

3

https://dl.doubtnut.com/l/_9jatwB9jMGXp


5. If  

A. 

B. 

C. 

D. 

cos θ = 0.75, tan θ =

0.60

0.67

0.75

0.88

https://dl.doubtnut.com/l/_SMoemlEgNlq2


Answer: D

Watch Video Solution

6. Which of the following is an equation of the

line that has a y - intercept of 6 and an x -

intercept of  ?

A. 

B. 

C. 

D. 

−2

3x − y = 6

3x − y = − 6

3x + y = 6

6x + y = 3

https://dl.doubtnut.com/l/_SMoemlEgNlq2
https://dl.doubtnut.com/l/_aYATuVqzgOIS


Answer: B

Watch Video Solution

7. For all 

A. 

B. 

C. 

D. 

Answer: D

y ≠ 0, + + =
1

y

1

2y

1

3y

1

2y

1

6y

5

6y

11

6y

https://dl.doubtnut.com/l/_aYATuVqzgOIS
https://dl.doubtnut.com/l/_TdBCINAifFCt


Watch Video Solution

8. In a class of 10 boys and 15 girls, the average

score on a biology test is 90. If the average

score for the girls is x, what is the average

score for the boys in terms of x ?

A. 

B. 

C. 

D. 

200 − x
2

3

225 − x
3

2

250 − 2x

250 − 3x

https://dl.doubtnut.com/l/_TdBCINAifFCt
https://dl.doubtnut.com/l/_T5XXmeSHexLh


Answer: B

Watch Video Solution

9. Which of the following graphs is symmetric

about the origin ?

A. 

B. 

https://dl.doubtnut.com/l/_T5XXmeSHexLh
https://dl.doubtnut.com/l/_HSJftAldRq0X


C. 

D. 

Answer: D

Watch Video Solution

10. George is going on vacation and wishes to

take along 2 books to read. If he has 5

different books to choose from, how many

https://dl.doubtnut.com/l/_HSJftAldRq0X
https://dl.doubtnut.com/l/_hQQ9dSUUJZgP


different combinations of 2 books can he

bring ?

A. 2

B. 5

C. 10

D. 15

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hQQ9dSUUJZgP


11. If 

A.  or 

B. 1 or -6

C.  only

D.  only

Answer: C

Watch Video Solution

√3 − x − x = 3, x =

−1 −6

−1

−6

https://dl.doubtnut.com/l/_RfPsfVVOhowN


12. The lines with the equations 

and  will intersect to the right of

the y - axis if and only is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = m1x + 4

y = m2x + 3

m1 = m2

m1 < m2

m1 > m2

m1 + m2 = 0

https://dl.doubtnut.com/l/_x66Cjmoj3crY


13. If the probability that it will rain sometime

on Monday is  and the independent

probability that it will rain sometime on

Tuesday is , what is the probability that it

will rain on both days ?

A. 

B. 

C. 

D. 

Answer: A

1

3

1

2

1

6

1

5

1

3

2

5

https://dl.doubtnut.com/l/_uTIVOwguAAdS


Watch Video Solution

14. If , then 

A. 1

B. 

C. 2

D. 3

Answer: C

Watch Video Solution

sin 2A =
1

2
=

1

2 sin A cos A

3

2

https://dl.doubtnut.com/l/_uTIVOwguAAdS
https://dl.doubtnut.com/l/_AGEbBkWxEM0V


15. What values for x would make 

undefined ?

A.  only

B. 1 only

C. All real numbers greater than -1

D. All real numbers less than or equal to -1

Answer: D

Watch Video Solution

1

√x + 1

−1

https://dl.doubtnut.com/l/_AGEbBkWxEM0V
https://dl.doubtnut.com/l/_Y3oAPUmFeHo7
https://dl.doubtnut.com/l/_86bgyvOkQnHz


16. If , the maximum value of 

 is

A. 2

B. 1

C. 0

D. 

Answer: B

Watch Video Solution

02 ≤ x ≤ 2

f(x) = 1 − x2

−1

https://dl.doubtnut.com/l/_86bgyvOkQnHz
https://dl.doubtnut.com/l/_w1tHp7ZlFPlq


17. If , and  is the

inverse of f(x), then 

A. 1

B. 3

C. 4

D. 13

Answer: D

Watch Video Solution

f(x) = 1 − 4x f − 1(x)

f( − 3)f − 1( − 3) =

https://dl.doubtnut.com/l/_w1tHp7ZlFPlq


18. Which of the following polynomials, when

divided by , equals  with

remainder 3 ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 4 2x2 + 5x − 3

6x3 + 23x2 − 11x − 12

6x3 + 23x2 − 11x − 9

6x3 + 23x2 − 11x − 15

6x3 + 23x2 + 11x − 9

https://dl.doubtnut.com/l/_7vUYTyboj5SX


19. Let  be defined to be the ''floor'' of x,

where  is the greatest integer that is less

than or equal to x, and let  be the ''ceiling''

of x, where  is the least integer that is

greater than or equal to x. If 

and x is not an integer, than f(x) is also equal

to

A. 

B. 

C. 

⌊x⌋

⌊x⌋

⌈x⌉

⌈x⌉

f(x)⌈x⌉ + ⌊x⌋

2⌈x⌉ − 2

2⌈x⌉

2⌊x⌋

https://dl.doubtnut.com/l/_yoszBh1knvp0


D. 

Answer: D

Watch Video Solution

2⌊x⌋ + 1

20. If , then =

A. 

B. 

C. 

D. 

log2 x + log2 x = 7

1.21

1.40

11.31

18.52

https://dl.doubtnut.com/l/_yoszBh1knvp0
https://dl.doubtnut.com/l/_QYntHFGb67lY


Answer: C

Watch Video Solution

21. If , what is the domain of

f(x) ?

A. All real numbers except for 0

B. All real numbers greater than or equal

to 1

C. All real numbers less than or equal to 1

f(x) =
√x − 1

x

https://dl.doubtnut.com/l/_QYntHFGb67lY
https://dl.doubtnut.com/l/_pvWI3ona6tjB


D. All real numbers greater than or equal

to -1 but less than or equal to 1

Answer: B

Watch Video Solution

22. How many ways can 2 identical red chairs

and 4 identical blue chairs be arranged in one

row ?

A. 6

https://dl.doubtnut.com/l/_pvWI3ona6tjB
https://dl.doubtnut.com/l/_nayFoVY1EWFw


B. 15

C. 21

D. 24

Answer: B

Watch Video Solution

23. If  and , which of the

following must be true ?

A. 

a + b > 0 c + d > 0

a + b + c > 0

https://dl.doubtnut.com/l/_nayFoVY1EWFw
https://dl.doubtnut.com/l/_gwC5QK1zOpH6


B. 

C. 

D. 

Answer: C

Watch Video Solution

ac + bd > 0

a2 + b2 > 0

d(a + b) > 0

24. If , and , then 

A. 1

x > 0, a = x cos θ b = x sin θ

√a2 + b2 =

https://dl.doubtnut.com/l/_gwC5QK1zOpH6
https://dl.doubtnut.com/l/_U2RR9UKwEm74


B. x

C. 2x

D. 

Answer: B

Watch Video Solution

x(cos θ + sin θ)

25. If  and 

, what is the vlaue of sin

x ?

0∘ < x < 90∘

5 sin2 x = 7 sinx − 2

https://dl.doubtnut.com/l/_U2RR9UKwEm74
https://dl.doubtnut.com/l/_jnyCCIk5peCd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.00

0.71

0.40

0.38

26.  and  are roots to which of the

following quadratic equations ?

3 − 2i 3 + 2i

https://dl.doubtnut.com/l/_jnyCCIk5peCd
https://dl.doubtnut.com/l/_ZFP3lqzeTITm


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 6x + 13 = 0

x2 − 6x + 13 = 0

x2 − 6x − 13 = 0

x2 + 6x + 7 = 0

27. If point P is located on the unit circle, then

 x + y =

https://dl.doubtnut.com/l/_ZFP3lqzeTITm
https://dl.doubtnut.com/l/_79UeIJePQbDp


A. 

B. 

C. 

D. 

0.37

0.50

0.78

1.37

https://dl.doubtnut.com/l/_79UeIJePQbDp


Answer: D

Watch Video Solution

28. If , which of the following graphs

is the graph of y versus x where x and y are

related by the parametric equations 

and  ?

A. 

0 ≤ t ≤ 1

y = t2

x = √t

https://dl.doubtnut.com/l/_79UeIJePQbDp
https://dl.doubtnut.com/l/_hGqDEZsfkySg


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hGqDEZsfkySg
https://dl.doubtnut.com/l/_sNuOpvqIG32D


29. If isosceles right triangle ABC and square

ACDE share side AC, what is the degree

measure of angle EBC ? 

https://dl.doubtnut.com/l/_sNuOpvqIG32D


A. 27

B. 30

C. 60

D. 63

Answer: A

Watch Video Solution

30. Which of the following denotes the correct

vector artithmetic ? 

https://dl.doubtnut.com/l/_sNuOpvqIG32D
https://dl.doubtnut.com/l/_9J131o3KyPl9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
x +

→
y =

→
z

→
y +

→
z =

→
x

→
x +

→
z =

→
y

→
z −

→
x =

→
y

https://dl.doubtnut.com/l/_9J131o3KyPl9


31. The horizontal distance, in feet, of a

projectile that is fired with an initial velocity ,

in feet pet second, at an angle  with the

horizontal, is given by 

 

If a football is kicked at an angle of 50 degrees

with the horizontal and an initial velocity of 30

feet per second, what is the horizontal

distance, in feet, from the point where the

υ

θ

H(υ, θ) =
υ2 sin(2θ)

32

https://dl.doubtnut.com/l/_9J131o3KyPl9
https://dl.doubtnut.com/l/_nTBAWZcls2ut


football is kicked to the point where the

football first hits the ground ?

A. 28

B. 30

C. 33

D. 36

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nTBAWZcls2ut


32. If a right circular cone has a lateral surface

area of  and a slant height of 6, what is the

radius of the base ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6π

0.50

0.75

1.00

1.25

https://dl.doubtnut.com/l/_u469VVZlrjjH


33. If two fair dice are tossed, what is the

probability that the two numbers that turn up

are consecutive integers ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.14

0.17

0.28

0.33

https://dl.doubtnut.com/l/_ynat8TssNPLu


34. Which of the following is an equation of

the ellipse centered at  with a minor

axis of 4 parallel to the to the x - axis and a

major axis of 6 parallel to the y - axis ?

A. 

B. 

C. 

D. 

Answer: B

h id l i

( − 2, 3)

+ = 1
(x − 2)

2

4

(y − 3)
2

9

+ = 1
(x + 2)2

4

(y − 3)2

9

+ = 1
(x − 2)

2

4

(y + 3)
2

9

+ = 1
(x + 2)2

4

(y + 3)2

9

https://dl.doubtnut.com/l/_Rreq3c9ESwzK


Watch Video Solution

35. If  and  for all real x,

which of the following statements must be

true ? 

I.  

II.  

III. 

A. I only

B. II only

C. III only

f(x) ≥ 0 g(x) ≥ 0

f(x) + g(x) ≥ 0

f(x) − g(x) ≥ 0

f(x)g(x) ≥ 0

https://dl.doubtnut.com/l/_Rreq3c9ESwzK
https://dl.doubtnut.com/l/_KcPiXN8VhrjF


D. I and III

Answer: D

Watch Video Solution

36. Where defined, 

A. 

B. 

C. 

D. 

=
1 − sin θ

1 − cos θ

sin θ

cos θ

−sin θ

−cos θ

https://dl.doubtnut.com/l/_KcPiXN8VhrjF
https://dl.doubtnut.com/l/_UujAmbnRgKLQ


Answer: C

Watch Video Solution

37. 

A. 

B. 

C. 0

D. 6

Answer: B

5

∑
k= 0

( − 1)k2k

−10

−6

https://dl.doubtnut.com/l/_UujAmbnRgKLQ
https://dl.doubtnut.com/l/_YIAUpEhjIwlj


Watch Video Solution

38. If , which of the following must

be true ?

A. 

B. 

C. 

D. 

Answer: C

f(x) = x3

f( − x) = f(x)

f( − x) = − f( − x)

f( − x) = − f(x)

f(x) = − f(x)

https://dl.doubtnut.com/l/_YIAUpEhjIwlj
https://dl.doubtnut.com/l/_pk4DvCMoSXtV


Watch Video Solution

39. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ 1

=
x2 − 6x + 5

x2 + 3x − 4

−1.25

−0.80

0.80

1.25

https://dl.doubtnut.com/l/_pk4DvCMoSXtV
https://dl.doubtnut.com/l/_w3qvKmBAFY9W
https://dl.doubtnut.com/l/_cQoVcBNbM4e2


40. In Figure shows the graph of , what is

the value of  ? 

A. 

B. 

C. 0

f(x)

f(f(3))

−4

−2

https://dl.doubtnut.com/l/_cQoVcBNbM4e2


D. 1

Answer: C

Watch Video Solution

41. If all the terms of a geometric sseries are

positive, the first term of the series is 2, and

the third term is 8, how many digits are there

in the 40th term ?

A. 10

https://dl.doubtnut.com/l/_cQoVcBNbM4e2
https://dl.doubtnut.com/l/_18fmUdLNy4cL


B. 11

C. 12

D. 13

Answer: D

Watch Video Solution

42. What is the degree measure, to the

nearest integer, of angle ABO ? 

https://dl.doubtnut.com/l/_18fmUdLNy4cL
https://dl.doubtnut.com/l/_lqJH7Ci0UUad


A. 50

B. 48

C. 45

D. 40

https://dl.doubtnut.com/l/_lqJH7Ci0UUad


Answer: D

Watch Video Solution

43. If , which of

the following could be the value of x ?

A. 12

B. 13

C. 16

D. 20

log2(x − 16) = log4(x − 4)

https://dl.doubtnut.com/l/_lqJH7Ci0UUad
https://dl.doubtnut.com/l/_2EJsGzMOAUbk


Answer: D

Watch Video Solution

44. If a sphere of radius 3 is inscribed in a cube

such that it is tangent to all six faces of the

cube, the volume contained outside the

sphere and inside the cube is

A. 97

B. 103

C. 109

https://dl.doubtnut.com/l/_2EJsGzMOAUbk
https://dl.doubtnut.com/l/_vRWRTqHKI4C4


D. 115

Answer: B

Watch Video Solution

45. If f(x)= sin (arctan x), g(x) = tan (arcsin x),

and , then 

A. 

B. 

C. 

0 ≤ x <
π

2
f(g( )) =

π

10

0.314

0.354

0.577

https://dl.doubtnut.com/l/_vRWRTqHKI4C4
https://dl.doubtnut.com/l/_7Nfmk14WIdxD


D. 

Answer: A

Watch Video Solution

0.707

46. If , what is the smallest

integer x such that  ?

A. 7

B. 8

C. 9

f(x) =
1

(x + 1) !

f(x) < 0.000005

https://dl.doubtnut.com/l/_7Nfmk14WIdxD
https://dl.doubtnut.com/l/_7AweXNloOEzY


D. 10

Answer: B

Watch Video Solution

47. Point O has coordinates (0, 0), point P lies

on the graph of , and point B has

coordinates . If , the area

y = 6 − x2

(2√3, 0) OP = BP

https://dl.doubtnut.com/l/_7AweXNloOEzY
https://dl.doubtnut.com/l/_CThtCdXAjLPj


of triangle OPB is 

A. 

B. 

C. 

1.7

3.0

3.5

https://dl.doubtnut.com/l/_CThtCdXAjLPj


D. 

Answer: D

Watch Video Solution

5.2

48. If cos 2x = sion x, and x is in radians,

radians, which of the following is a possible

value of x ?

A. 

B. 

0.39

0.52

https://dl.doubtnut.com/l/_CThtCdXAjLPj
https://dl.doubtnut.com/l/_SxqcUROd1Pzs


C. 

D. 

Answer: B

Watch Video Solution

1.05

1.60

49. If a wooden right circular cylinder with

radius 2 meters and height 6 meters has a

cylindrical hole of diameter 2 meters drilled

through the center as shown, what is the

entire surface area (including the top and

https://dl.doubtnut.com/l/_SxqcUROd1Pzs
https://dl.doubtnut.com/l/_zw24nzj5BFJ2


bottom faces), in square meters, of the

resulting figure ? 

A. 

B. 

38π

40π

https://dl.doubtnut.com/l/_zw24nzj5BFJ2


C. 

D. 

Answer: C

Watch Video Solution

42π

44π

50. What is the greatest possible number of

points of intersection between a parabola and

a circle ?

A. 2

https://dl.doubtnut.com/l/_zw24nzj5BFJ2
https://dl.doubtnut.com/l/_vNlutPrFICsh


B. 3

C. 4

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vNlutPrFICsh

